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Question Number : 1 Question Id : 3354727431 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Ehimbetka caves are famous for its | et TET____ % oy uieg gl

Options :

1. ¥ Sculptures | giFat

¥ Tiger parks | TSR U1

3. ¥ Rock paintings [ & &t

4. % Temples | #feit

Y

4

ahy)

Question Number : 2 Question Id : 3354727432 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

“The Lakshrni Baj National Institute of Physical Education” is located in which district of Madhya Pradesh? |
He WS o T et # 5Tt Ham sec legg ST Thiehe U e 27

Options :

1. ® Rewa | T

¥ Guralior | TamiereR
® Indore | 22K

4 ¥ Satna | 9aqr

M

w

Question Number : 3 Question Id : 3354727433 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
The Atomic Energy Commission is responsible for formulating the policy for the atornic energy activities in the

country. When was it Set up? | UTHT] S1 RN &7 H UCAT] 1 Tid e el g Aid HiduTied @ & o] StRarl g g
el CEIRIEE

Options :
1. ¥ 1960

2 ® 1956
3 % 1951
4 ¥ 1948

Question Number : 4 Question Id : 3354727434 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Beri-beri is caused due to the lack of which one of the following substances? | fFgieiaa # & forg ugref &1 @At &
FIOT i —aleT 51T 57

Options :
1. ¢ Vitamin B1 | feeTda & 1

2. ® Protein | #icH
® Vitamin C | TderfaT €t
® Fats | @¥r

L

-

Question Number : 5 Question Id : 3354727435 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
When was the '4ll India Muslim League' founded? | & W Gieerd s & S10T Fel 58 417

Options :
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1. ¥ 1902
2. ¥ 1906
3. % 1911
4 ¥ 1919

Question Number : 6 Question Id : 3354727436 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

‘International Tiger Day’ is celebrated on _____________ of every year. | 'SP &y feae nqdm ay_________ Eal
HATAT G721

Options :

1. ¢ 29th July | 29 A8
® 13thMay | 1378
® 23rd July | 23 I8
#® 15th May | 15 #8

M

o

Question Number : 7 Question Id : 3354727437 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Who prormulgates ordinance in states? | T=al & srdTgy 19 #H] &l 57

Options :
. ¥ Governor | T=aUTA

® Chief Minister | geaud!
# President | TTEO

% Chief Justice | 7 =emeia

=2

W

s

Question Number : 8 Question Id : 3354727438 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
India and China were locked in a months-long rmulitary standoff in this I—Iimalayan regior. Narme the region. |

= TRt & H o We I & del OHT 9@ a-F Tiaer § Ig S =S dg 9 8 @7 A1 g9
Options :

1. ® Shangri-la | $d-am

2 % Daulat Beg Oldie | ed a1 aflerar

. ¥ Doklam | S

# Ladakh | @gE

L

>

Question Number : 9 Question Id : 3354727439 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

which one of the following articles was called as the heart and soul of the Constitution’ by Dr. BR.
Ambedkar? | ST =18 al%mgmﬁﬂ%{?@?rﬁ‘ﬁaﬁ:rm Jeerg, Hide ®7 Toe o ATeHT FEamT a7

Options :

1. ¢ Article 32 | arfedg 32

2. ® Article 19 | srjedg 19
3. ¥ Article 350 | argegg 350
4. % Article 363 | arfe8g 363
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Question Number : 10 Question Id : 3354727440 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Who is the founder of Tata group of companies? | TRT Qg HU-A! & GEITHEH DI 27
Options :

1. ¢ Jamsetji Nusserwanji Tata | ST JERam=1 2T

2. % ] R D Tata |3 3% &, TET

3. ¥ Ratan Tata | WA TRT

4. ¥ Dorabji Tata | SRTe=IT TTT

Question Number : 11 Question Id : 3354727441 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

which one of the following dance forms is Rulrnini Devi Arundale associated with? | = & & 19 €t gqz et
BIGHUIT ST SESel & Halldd 57

Options :

1. ¥ Bharatnatyam | Wadeaq
2. % Kuchipudi | Fogat

® Kathak | #o&@

. % Kathakali | Tt

w

LN

Question Number : 12 Question Id : 3354727442 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The largest desert in India is in

Options :

1. ® Uttar Pradesh | 3q4¢ Ued
¥ Bihar | fegR

. ¥ Rajasthan | T=a=

# Madhya Pradesh | Te uga

o

oW

Question Number : 13 Question Id : 3354727443 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Very hig%1 grade Iron Ore is found in the districtsof ___________. | THT 35 AT T FAg S, & et o
T ST

Options :

1. ® Morena and Rewa | GtT T Tar

2. ® Ratlamand Dhar | o &€ &

3. ¥ Durg and Bastar | g /¢ aa<

4. % Ujjain and Kalumar | 3599 T FTGAR

Question Number : 14 Question Id : 3354727444 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
MNobel Laureate Kailash Satyarthi was born in

Options :
1. ¥ Vidisha | Taifgam

2. ¥ shahdol | ygSid
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3. ¥ Mandla | g=@T
4. % Indore | 2

Question Number : 15 Question Id : 3354727445 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Where %E;s the temple of Mangalnath, which is dedicated to the planet Mars? | AT @1 Al 5T 5, 1 AIA Ug @1

Options :

1. ¢ Ujjain | 39

# Maheshwar | AgR

® Ornkareshwar | STHETCIET

® Datia | gfd=w

r

w

e

Question Number : 16 Question Id : 3354727446 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Where is the samadhi of Maharaj Chhatrasal situated? | AR TIaT &1 GATT Hgl €90T &7

Options :

1. ¥ Mahowa | AgHET
2. ¥ Orchha | T
3. ¥ Raisen | =@
4. ¥ Dhubela | geieT

Question Number : 17 Question Id : 3354727447 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
Which termple was renovated by Colonel Martin? | @el Hie- gRT Tord Tiey @7 gafanior e mar 477

Options :

. ¢ Baijnath Mahadev temple | s HgIed Higt
2. #¥ Ram temple | T Al

#® Chintaman Ganesha temple | TefamauT Toter Aigy
4. ® Rani Sati Dadi ternple [ T a1 8T AT

—

L

Question Number : 18 Question Id : 3354727448 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

Identify the name of the corrnunity that got the minority status in 2014: | 2014 ¥ 569 U B IFUEEIF & g1
THAT, ST A9 FaT)

Options :

1. ¥ Parsis | gRdt

2 % 5ikhs | @
3. ¢ Jains | 949
4. ¥ Buddhists | 9kg

Question Number : 19 Question Id : 3354727449 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The first Indian fernale wrestler to win a medal at Olympicsis ________. | AT H Ue® St aTe! o R 2
ATRHT U=t EL
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Options :
1. ¢ Sakshi Malik | €t afc®
2. # Babita Kumari | afeldT FART
3. ¥ Vinesh Phogat | THa wime
4. ¥ Geetha Phogat | TaT I

Question Number : 20 Question Id : 3354727450 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
According to 2011 census, Madhya Pradesh had a literacy rate of

~} 2011 &Y SHIUET & SR, REaUaa &

ATGRAT I ______ o
Options :
1. ¥ 935%
2 ¥ 70.6%
3 % 453%
4 %® 539%
General Maths and General Aptitude
Section Id : 335472234
Section Number : 2
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: |
Sub-Section Id: 335472234
Question Shuffling Allowed : Yes

Question Number : 21 Question Id : 3354727451 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Pipe A can fill a tank in 4 hours whereas pipe B can empty it in 6 hours. If both the pipes are opened together,
then the nurmber of hours needed for the tank to be filled is____. | UTSU A U Tl @1 4 T{ H 9 FhaT g Telih 020 B
I € Hel # G & gedT 5] Fie g1 TIE0T 1 UHarT GIAT A1aT 5, a7 2! B W & (o1 STesae et 6l aear____7l

Options :

1. ¥ Shours | 8 &¢

2. % 9hours | 9 E¢

3. % 10hours | 10 &%
4. ¥ 12hours [ 12 ¢

Question Number : 22 Question Id : 3354727452 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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If 6x% — 24%° — 5x + 6 is divided by x + 2, then the remainder is: /378 6x° —24x° - 5Xx+ 6% X+
2@ Eunierg &4 &aT §, o 9Nha gEm
Options :
1. % 22
2 ® -16
3.¥ 16
4 % 22
Question Number : 23 Question Id : 3354727453 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

V15 x V20 =2

Options :

. 53

1 ®
1043

>
'C)
5. - HE
1542

4 ®

Question Number : 24 Question Id : 3354727454 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
BN T

Options :
1. ¥ 35

Question Number : 25 Question Id : 3354727455 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
What is the square root of 4417 | 441 &7 a1 FT 37

Options :
1. % 11
v 21
® 41

4 ® 29

2

w
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Question Number : 26 Question Id : 3354727456 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Find the average. | & Ha@mom
15, 69, 33, 26, 22

Options :
1. ¥ 35

L
L )
=]

o

Question Number : 27 Question Id : 3354727457 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The number 83216.5 in the standard form is written as 8.32165 x 10" where nis: / G&AT

83216.5 &I Al &7 # 832165 x10" & &g & @ Aar &, 9§ n &

Options :
2. ¥4

3 %5

4 ® g

Question Number : 28 Question Id : 3354727458 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
If /A =20° and Z/AFG = ZAGF, then /B + /D equalsto___./afg ZA=20°3T ZAFG=
ZAGF @, 4B+ 4D & S Bl

Options :
w
1 ®
. 00°
o B
720
2 ®
80
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Question Number : 29 Question Id : 3354727459 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The average of 2% 76, 126, 176, 226, 276, 326, and 376 15 | 26, 76, 126, 176, 226, 276, 326, N 376

T AT

Options :

Question Number : 30 Question Id : 3354727460 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The number of digits in the product 4°X 50is . /49x 510 IOTAD H 3ol r gE&ar

___®l
Options :
e O L)
, % 3.

® 12

[.2

L

® g

Question Number : 31 Question Id : 3354727461 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

A man went from A to B at 50 km/h and came back at 100 km(h. What is the average speed for the entire
journey? | U e A § B T S0 Tt/ O & M7 S 100 Tt weT & a1 Fite sTem @Yot A S sfted 1id a6 g7
Options :

1. ¥ 7S kmjh [ 75 Tt geT

2. ¥ 3333 km/h | 33.33 f@Ht/ e

3. ¢ 66.66 km/h | 66.66 T/ EeT

4. ® None of the above | 30w § § &5 g1

Question Number : 32 Question Id : 3354727462 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Ina group of 10 boys, 2 of them are all-rounders. What is the probability that a boy selected at randorm turns
out to be an all-rounder? | 10 W & U &g H, 370 § 2 ATa-TIST §) a1 Fa1 WL 5 7o AIgRasd &0 § i
ASHT U T —THST 6 HTT?

Options :

1. %5

Vo2
% 0.25

® 05

N VU

Question Number : 33 Question Id : 3354727463 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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In the figure, strips 1, 2 and 3 have the same horizontal width ‘a’ units. These strips connect two

parallel lines. Which strip has the largest area? / 9 # 1. 2 3X 3 ufzai &1 A= afas diss
‘2’ SRS B1 A U & THIGK W@ & Sedl &1 e w@ & Sane 99w e &

M7

1. ¢ all three strips have the same area. | @t 4T Tl &1 G0 7% )
2. ® Strip 1 only | #aw st 1
3. ¥ Strip 2 only | FAA UST 2

® Strip 3 only | %ad Us! 3

Question Number : 34 Question Id : 3354727464 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

If 30% of a number is 300, then the number is: | Tig UF G&41 H1 30%, 300 5, T4 5 9€T &
Options :

1. ¥ 900

2. % 10

3. % 100

4. ¢ 1000

Question Number : 35 Question Id : 3354727465 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

The age of Sushil 6 years age was three times the age of Snchal. Six years hence, the age of Sushil would
be ; times that of Snehal. What is the present age of Snehal?/ 6 9% 5ol TS &1 HG FAge &

I A T N 6 T AE, TS A NG TS A 2 T g TEd B acA g
T 87

Options :

1. ® 14 vyears | 14 a9

2. % 22 vyears | 22 oW

3. % 18years | 189

4 ¥ 12vyears | 1299

Question Number : 36 Question Id : 3354727466 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The population of a city is 15,00,000. If it increases by 10% during the first year, decreases by 20% in the
second vear and increases by 20% in the third %ear then the population after 3 years is: | U& 57 & e

15,00,000 g1 aﬁ:zxgmaﬁaaﬂ:r 10% & =% A1 5, Bdaad § 20% & 97 997 § o gt ad o 30%%@:3611?&% ars
aéuaarﬁrmﬂw
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Options :
1. 17,186,000

2 % 17 50,000
3. ¥ 16,50,000

4. % 16,00,000

Question Number : 37 Question Id : 3354727467 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

x2-12x+36 is equal to____ /x%-12x+36, FaTat gl

Options :

(x-6)°
_ (x+6)*
3 ¥ (x-9)(x-4)

e

® x-12)(x-3)

Question Number : 38 Question Id : 3354727468 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
The roots of the equation 6(x+1) = 13x are: /FF@ET 6(x2+1)=13x & == §:

Options :

1. %23
1,
2
o ® -
15
s n 3
g 3
4 ¢ 3 2

Question Number : 39 Question Id : 3354727469 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
If SE78ATE is divisible by 36, then A is__. | Alg S678ATE, 36 A EMFAI T TTA ____ 8l
Options :
1. %0
® g

4 ¥ 5

r

]
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Question Number : 40 Question Id : 3354727470 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

4d + 444 + 4444 + 44444 =7
Options :

1. ® 42478

M )
$ !
N
o] Q
Ly~
~J
(8]

# None of these | mﬁ#ﬁ?ﬂﬁ

General Hindi

Section Id : 335472235

Section Number : 3

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472235
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 3354727471 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

a=reui o1 S TR Teeal, T Taral qT TegTer Toval ol JUsTemy 1

Options :
4. % st

Question Number : 42 Question Id : 3354727472 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
TR 2
Options :

[

o

e

[+

Question Number : 43 Question Id : 3354727473 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Cavvact «+ 1T Werana « )
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T Meg HT ARG -
Options :
1. ® ggm
2. ¥ um qat
3. ® giemn

Question Number : 44 Question Id : 3354727474 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
S S A | TR g oF a1 AT 99 o ae ne e W g S FEAT 2]

Options :
2. O
4 ® &g

Question Number : 45 Question Id : 3354727475 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

TafdmEa s T gdRagd'T @ ©'F 0T T AaFE avi g, A e . G
Options :

1. % g

p._l

®

e

Question Number : 46 Question Id : 3354727476 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

UET T O g H W AT e
Options :
2. % o

N
34

Question Number : 47 Question Id : 3354727477 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
T AT TR & oUW deg P A @ @ AT g

Options :
2. ¢ qamigE
4, ® &=

Question Number : 48 Question Id : 3354727478 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

[SLINUSA Pl SRR A TPy o WPEPNENE P A 50 - PRy o WSO L PRSP VSN PN
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Correct : 1 Wrong : 0

TR T ATe doig Mg H F @ arg?
Options :

1. ® Tt+amm

e

[

4 ® T+ @

w

Question Number : 49 Question Id : 3354727479 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
U7 T AT g, g H & FIT a1 87

Options :

1. ¢ qrg

M

w

s

Question Number : 50 Question Id : 3354727480 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Y I0ET & T Jeg, W H H B 57
Options :

1. ¥ gmeg

2 ¢ Tmga

w

e

Question Number : 51 Question Id : 3354727481 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

T deg | 99 # & @19 9T 9T 57
Options :

1. ® gogey qur

ra

L

v

Question Number : 52 Question Id : 3354727482 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

TR USAT gEew @ o g g @ arg?
Options :

2 g # s

4 % T=T ST
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Question Number : 53 Question Id : 3354727483 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
‘TRUET T G ® T H E T g?
Options :

M

3

Question Number : 54 Question Id : 3354727484 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
“ATeed T 1 ST 9T 540 & @19 &1 57

Options :
1. ¢ geaa
2 ® I
3. % ofn
4. ¥ gE

Question Number : 55 Question Id : 3354727485 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

T sy 1er & Top A1 effer 9t 2]
I 51 &1 AT & T AT 1 g &l gl
H @19 AT AT 51 Gal ey gimg?

Options :

N i;lli-,lﬂ :1 3 L"C
® ‘3']:]_ T -3-16'515 T
4. ® IquF AAFR

P

SN

Question Number : 56 Question Id : 3354727486 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

fory e T T e i 2 g - i

Options :

5 % B?TEFFTE %mqamﬁﬁwmﬁm@maﬂ%m
4. % it ag 7T & g BT AT H1 T8

L

Question Number : 57 Question Id : 3354727487 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
‘T 59 U Jeg, & o] ST M g giam
Options :

1. % Oz &t amr
2 & S o T



10th Dec17 Shift 2

Question Number : 58 Question Id : 3354727488 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
‘T auid TET T S e, §E oy #18 U Srd J6g ad 150
Options :

o

[

oy
. =

® g

&

Question Number : 59 Question Id : 3354727489 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
ST Seg T ST ARl 5 -

Options :
. TS

[

w

-

Question Number : 60 Question Id : 3354727490 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
TREFT o7 GHE-Ta7g Ta1e0

Options :

1. %1 FED
Fural ECOHOI’I’I}F arnd Panchayati Raj

Section Id : 335472236
Section Number : 4
Section type : Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questions to be attempted: 20
Section Marks: 20
Display Number Panel: Yes
Group All Questions: No

Sub-Section Number: 1
Sub-Section Id: 335472236

Nnactinn Chufflina Allawad « Vac
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Question Number : 61 Question Id : 3354727491 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which schermne 15 renamed as MNational Rural Livelihood Mission? | ﬁ?ﬂ?ﬁﬁmmﬂm T E T ﬁ'&l"lﬁ‘l LT ﬁaﬁilgs
TErST (T TITHIT arriTTereRT THer) €T e 87

Options :
1. ® Integrated Rural Development Programume | ECiies &d SaduHe T
2. ¥ National Rural Employment Programme | S9-d & THYATGHS THTd

3. ¥ Swarnajayanti Grameen Swarozagar Yojana | Tul Sed T TTHI SR TR T
4. % Rashtriya Gram Vikas Yojana | ¥19g 1< UTH fderd Jra-r

Question Number : 62 Question Id : 3354727492 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is the primary function of Kisan Mitra in Madhva Pradesh? | Hea near # Topa 103 &7 urriie &1 Fam 57

Options :

1. ® To work as agricultural labourer | Y sfd® & &0 H &1 F=T

2. ® To guard the fields of the farmer | ToreT @& St @1 GG BT

3. ¥ To spread information regarding government schemes | ST AT & aT¢ # ATF@TCT TETT HeAT
4. ® To carry farmer’s produce to market | Toram=T & IcUTE! BT ATAR & o AT

Question Number : 63 Question Id : 3354727493 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

What is the name of the emporium selling Madhya Pradesh handicrafts products all over India? | 7eg W4T
gEqided JoTg o g Wd o Teieh! e Aot ol s, @ 97T AT 27

Options :

1. ¥ Shabari | &
2. ® Narmada | FHaT
3.

v Mrignayani | §aT
4. % Kaveri | FeNT

Question Number : 64 Question Id : 3354727494 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

IE% %h;%gl vear was Swarnjayanthi Gram Swarozgar Yojana launched? | &mi S04t TTH FaX e T T 1o Tt S

Options :

1. ¥ 2011
2. ¥ 2007
3. % 2003
4. ¥ 1999

Question Number : 65 Question Id : 3354727495 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which of the following is NOT a pur%%se for which an Agriculture Investment Loan is granted to a farmer? |

g § & @ o1 Wi A5 g Eer Ty e g et Sor ger T T ST g7

Options :
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1. ¢ Buying seeds | &9 &l Giig

2. % Irrigation | =g

3. ¥ Buying agricultural machinery | &t Hafi=er & @lig
4 % Land Development | iF fowma

Question Number : 66 Question Id : 3354727496 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

What is the maximurm age of a girl eligible for opening account in Sukanya Samriddhi Yojana? | g1 adig

Options :

1. ® 7years | 7 a9
2. % Syears | g aW

® gyears | 9Ty
¥ 10vears | 10 a9

w

o

Question Number : 67 Question Id : 3354727497 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Which of the following states was awarded for constructing highest road leni%;g in 2016-17 under PMGSY? |
A TIHaTE & SfETd 2016-17 | qaitie dars aTe! Ged a1 & o] Haiead 8 & o T3 1 Qe a1 =T 917

Options :

1. ® Gujarat and Assam | T=RIT Ud S/EH

. ¢ Bihar and Madhya Pradesh | g 0a meg ndar

# Maharashtra and Goa | FgRIYg Ta T

# Himachal Pradesh and West Bengal | T5HTE 0a OF T aa

[+

Question Number : 68 Question Id : 3354727498 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
The Madhva Pradesh Ceiling on Agricultural Holdings Act was enacted in _____. | Heg W ¥ Uiideed glieate
TeFeY T g7 ST H _____ # T T &m

Options :

1. ¥ 1940
2. % 1950
¥ 1960
4 % 1970

WA

Question Number : 69 Question Id : 3354727499 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
Which is the main objective or motto of the Panchayat Raj systern? | U=Td T e0aedT &7 §& a5 A7 T Fam 37

Options :

1. ¥ Econornic Power | 3 ik

2. ¥ Decentralized Democracy | Tehieg diwaT
3. ¥ Administrative Education | wsmaie Taem
4. ¥ Rural Developrnent [ TTHI 2
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Question Number : 70 Question Id : 3354727500 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Where is Indian Institute of Soil Sciences located in Madhya Pradesh? | wed i # g0 SEETe i Hige QIeer
(T T e T wewrm) et e 27

Options :

1. ¥ Bhopal | {7

2 % Gymlior | TaTieraR
3. ¥ Indore | &K

4 % Jabalpur | S&eqt

Question Number : 71 Question Id : 3354727501 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Where in Madhya Pradesh is Central Institute of Agricultural Engineering located? | Az WG # Hgel Tee e Sl
SRR (e HETH) FET A 87

Options :

1. ¥ Bhopal | \MTA
2. ® Indore | 32X

3. ¥ Gwalior | ETfeax
4. ¥ Jabalpur | S&@qe

Question Number : 72 Question Id : 3354727502 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
How many regulated agricultural mandis are there in Madhya Pradesh? | Te2 nsr | $a Toha-1 @iy df2<m @i

Options :

1. ¥ 300-400
2. ¥ 400-500
. ¥ 500-600
® 500-700

¥}

e

Question Number : 73 Question Id : 3354727503 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which of the following is NOT a variety of rice in India? | WRa # TalcREd # & o Wi &7 =Tad Ag1 O a7 87

Options :

® Red Rice | #ITel Telel
® Black Rice | el =ldel
. ¥ Blue Rice | @1 amaw
# Brown Rice | {7 Tde

—

Ly ra

-

Question Number : 74 Question Id : 3354727504 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Which AITiong the follow’ng known as 2F5) 15 NOT considered under PELHCha}.?Elt Empowerment &

Accountability Incentive Scheme? | Foieiad § & g @ | (3F & 910 & WToid) U=Tad Gk 0T Od Joigiieed

Options :
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® Funds | et
#® Functions | @M1

=
2

¥ Farmers | Toramt
#® Functionaries | UETE@mTCaT

G A

Question Number : 75 Question Id : 3354727505 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

How many Regional Rural Banks are functioning in India as of March 20167 | 9%d # AR 2016 @ fora+ &=
TTHIT e w57

Options :
1. ¥ 28
2 ® 43
¥ 58

® g7

NN

Question Number : 76 Question Id : 3354727506 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0
%ve National Developrrent Council (NDC) was founded in _____ | TR TermTe UReE (T2 ) T T HEE

Options :

1. ¥ 1947
2 % 1963
3. ¢ 1952
4 % 1954

Question Number : 77 Question Id : 3354727507 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
India’s rank on the 2017 Global Hunger indesy 15

Options :

1. ¥ g7outof 119} 119#€ 97
2. % ggoutof 121 | 121 #HES
3. ¥ g7outof 123} 123 H¥ 87
¥ 100outof 119} 1197¥ 100

MY

Question Number : 78 Question Id : 3354727508 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Wwhich of the following is NOT the function of Panchavat in the case of Self Help Groups under Swarnajayvanthi

Gram Rozgar Yojana | afg o Ggrad] GHg v srd | UTH RS G o S ST g a1 W=rad &7 =9 § § &9 a1
@l Rt 87

Options :

1. ® Identifying Below Poverty Line families | TEI&lT $@T & Sl SAa A0 & aTel IR ] & Riivad @

2. ® Release the Capital subsidy | USiT SIggM ST &7

3. ¥ Release Revolving Funds | it e S aear

4. ¥ Market the products of the group | 9Hg % JcuTa! @7 [&UuT FAT
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Question Number : 79 Question Id : 3354727509 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which authorities conducts elections to Panchayats in states? | T4t § &1 T WTTEH0T U= g-1d #Ldmdl 57
Options :

1. ® Election Cormrmission of India | ¥Rd @7 Faiae s

2. ¥ Respective State’s Election COMImission | Heled T4 & g-Ta =T

3. ¥ Ministry of Panchayati Raj in the state | T/ &7 0@ T (4 AIA9

4. ¥ District Collector of the respective districts | HaTed e &7 FaTeitar

Question Number : 80 Question Id : 3354727510 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

The objective of Mission of Agroforestry isto ______. | P! e FT I8 ______ 2l

Options :

1. ® Replace all agriculture lands with forests | Qe §iY T 7 0T G907 HEAT

2. ¥ Expand the tree coverage on farmiland under cultivation | ¥ IHaT GiF 0T arfere g &7 ea© FeT
3. #® Promote cultivation in forest areas | @ &1 # F¥ &1 GG 1@T &AT

4. ¥ Find market for forest produces | a9 Icua! & T&T ST &1 TATT HEAT

Computer Knowledge

Section Id : 335472237

Section Number : 5

Section type : Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questions to be attempted: 20

Section Marks: 20

Display Number Panel: Yes

Group All Questions: No
Sub-Section Number: 1
Sub-Section Id: 335472237
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 3354727511 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Abbreviation for ‘CC’ in e-mail application is: | $-Hd T e § SI5qT 2rg) diEr @7 qof 7 ¢
Options :

1. ¥ Company Copy | @Ot @t

2. ® Common Copy | AT H1UT

3. ¥ Carbon Copy | ®Te- @

4 % Casual Copy | FIard Bl

Question Number : 82 Question Id : 3354727512 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Cavvact «+ 1T Wrana « N
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Options :

1. ® Scanner | gt
2. ¥ Keyboard | #E
3. ¢ Printer | fiiex

4. ® Mouse | #1I9

Question Number : 83 Question Id : 3354727513 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Gantt chart can be easily drawn in: | Tz T2 & 50H ATEHT & =TT T 96T &

Options :

1. ¥ MS Word 2007 | QAUH @2 2007

2. % MS PowerPoint 2007 | TAUY uT-:lt_Licus'c 2007
3. ® MS Access 2007 | UHUE Tgad 2007

4. ¥ MS Excel 2007 | THUE UFdd 2007

Question Number : 84 Question Id : 3354727514 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

An excel docurment that are stored as files is called _________. | T UFEd STpgHe STd BIEal & & § §uied 51T &,

Options :

1. ¥ workforce | Tame
2. ¥ worksheet | Tl
3. ¥ worktable | ddcad

4. ® workgroup | gy

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 85 Question Id : 3354727515 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
What is the shortcut key for underlining a word in MS Word? | UATE 92 H UF I &1 SSTATS i & o] S 91

G T
Options :

1. ¥ CTRL +U
2. % CTRL+V
3. % CTRL + X

4 ¥ CTRL+Y

Question Number : 86 Question Id : 3354727516 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

4 software which allows user to view the webpage is known as: | @5 SIFCda? ST Jo) H1 dausT g@- Hi gicer 3aT g,
T T &

Options :

1. ¢ Internet Browser | Zet4¢ §134C

2. ® Operating Systern | siTaeien Fegen

3. ¥ Website | de@ET
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4. % Client | FdBe

Question Number : 87 Question Id : 3354727517 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

A computer cannot 'boot!, if it does not have the ______ MR R R LA T — ek
Options :

1. ¥ Compiler | FHUTEAT

#® Loader | AlET

3. ¥ Operating System | ATqefén fewen

® Assembler | TGS

Lo

s

Question Number : 88 Question Id : 3354727518 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

The r%i%iglum nurnber of rows and colurmns in MS Word docurnent is: | TATH 92 STggHe # TIAad fora 1 ot
EIGEEACES

Options :
1. ¥ 1andl/1afk1

® 2and 121
® cand2 |22
. ® None of the above | IWiFd # d &5 A1

M
[

L

i

Question Number : 89 Question Id : 3354727519 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which menu in MS Word 2007 can be used to change character size and typeface? | TATE g2 2007 H, g o @1
UGN &t T5 S TG0 i age- & fo] Toam STTar 87

Options :
1. ® View | g

2 % Review | g

. ¥ Home | 3

4. % Insert | g9¢

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

,

L

Question Number : 90 Question Id : 3354727520 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

_________ is not a part of CPU. [ _________ did1g @1 U gaar 751 2l

Options :

1. ® Storage unit | GRS e

. % ALU | gueryg

¥ Program unit | ¥ e
® Control unit | FLIA AT

%)

L

s

Question Number : 91 Question Id : 3354727521 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Which special character is used to select page range for printing in a docurnent? | U® Siggae § iiT & o o= &
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Options :

1. ¥ Hyphen | §E%A
2 ¥ Comma | BT
3. ¥ Plus | 479

4. % Colon | ®e

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 92 Question Id : 3354727522 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: (0

Which of the fOllOWng 15 a link to aCCess any iterrl o your Cornputer or on a network such as a prograrr, file,
folder, etc? | FAATTET # & @14 91 U Headh 99 Uh BEEH, B, ugﬂzx SIS, U 0T MT0eh YR UT e armsed @i
e e o Toll] Ue Toidh 57

Options :

. % Icon | UTEHH

. Shortcut | ST
3. ¥ Link | e

4 % path [ T

| I

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all candidates.

Question Number : 93 Question Id : 3354727523 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0
Which term is NOT related with font group in MS word 20077 | UHGH 98 2007 H &9 97 J4g, Bi-c J0 & Haied "al

Options :

1. ¥ Shrink Font| i@ ®i-e

2. % Font size | BI-e 5

3. ¥ Font color | BT ®ex

4 ¢ Font grammar | BTHe T

Question Number : 94 Question Id : 3354727524 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0

Dot matrix is type of: | STe-AieHd sHET U@ TR 51T &
Options :

1. ¥ Floppy disk | FaM! i&qF

% File | BIEd

. ¥ Printer | fiex

¥ Monitor | HTET

M

Ll

s

Question Number : 95 Question Id : 3354727525 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong: 0
Unsolicited cormrmercial e-mails are known as: | SFTHET RTHEGAA 5-Hed ®1 20 719 & G F=7 a7 2
Options :

1. ® Just ermail | %o S8
2. ¢ Spam | g9

3. ¥ Chat | 3¢
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4. ® Bulk mail | ao® Ad

Question Number : 96 Question Id : 3354727526 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0

In MS Word, you can force a page break by: | UAUS g2 H, 170 TG & ZRT U U1 ik @1 BIE ¢ qed &

Options :

1. ® Positioning your cursor at the appropriate place and pressing the F1 Key [ S0 %d¢ #1 Jieid G U @ B¢
S F1 il @ gall e

2. ¥ Positioning your cursor at the appropriate place and pressing Ctrl +enter | U TET BT T G U T FH
T Ctrl +enter it @1 gaT #

3. ® Using the Insert/Section Break | SId¢ | SH sich &1 JULNT Hleh
4. % Changing the font size of your document | 319 STHFIHT FT BIE TS d8d BT

Question Number : 97 Question Id : 3354727527 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

Whic%?one of the following results a computer CANNOT perform? | T% ST WHHA H & FT TR0H, WSidid A1 #%
T 2

Options :

1. ¥ Input | 399%

2. ® Output | AFYT

3. ¢ Thinking | Tt

4. ¥ Processing | WaTET

Question Number : 98 Question Id : 3354727528 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct: 1 Wrong : 0

& high-speed internet connection or wideband transmission is knowr as: | gE-GUIE sai-e F-ga IT dEsde
TR 39 9 & |t F=T F1aT

Options :

1. ¥ Dial-up Network [ STI-31 S2ad

2. ¥ Digital transmission | EFea g
3. ® wide Area Network | 158 UiET Hgad
4. ¢ Broadband Network | sigdg dcad

Question Number : 99 Question Id : 3354727529 Question Type : MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong : 0

Which of the followi }.rou can paste selectively using Paste Special cormmand in MS Excel? | THTE Ugdd § 06T
Hﬁwmmw TfeiaT & & a7 U9 %< d9d &

Options :
1. ® validation only | %ad dimed

2. ¥ Formats only | &ad BIHE
3. # Forrmulas only | %dd BIHAT
4. ¥ All of the above | IWiEHd a4

Question Number : 100 Question Id : 3354727530 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct : 1 Wrong: 0
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% aglfphanumeric cornbination like “J8" in Excel would mean a: | UFdd § “J6" 59 U STgRIh 4 @i &1 e fHa

Options :

1. ® Workbook address | Thg® U2d
2. ® Worksheet address | g@sT U129
3. ¢ Cell address | 97 029

4. ® File name | WIEa &1 A7



